EECS3311 Software Design (Fall 2020)

Q&A - Project

Thursday, November 19



How Enemies Act A)C,

References L7 d
Section 7: Enemy Action in messages.txt M
Section 6.13.5 Phase 5: Enemies Act in instructions PDF )7»/0(\’[
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[Z,le) [

Acceptance Test atOl11 o aR‘ZL

state:not started, normal, ok

Welcome ;o Space fe r Version 2.
->play(5,1

~7state:iweapon~setdp, ‘normal, ok
1:Standard (A single projectile is fired in front)
Health:10, Energy:10, Regen:0/1, Armour:@, Vision:1, Move:1, Move Cost:1,
Projectile Damage:70, Projectile Cost:5 (energy)
2:Spread (Three projectiles are fired in front, two going diago

) . ; ) ) . . U
Health:@, Energy:60, Regen:@0/2, Armour:1, Vision:@, Move:®, Moye Cost:2, ﬂ?Ne ‘

Projectile Damage:50, Projectile Cost:10 (energy)

3:Snipe (Fast and high damage projectile, but only travels via te\leporting) Eﬂma ‘JF‘W'\??

Health:0, Energy:100, Regen:0/5, Armour:@, Vision:10, Move:3, Mqve Cost:0,
Projectile Damage:1000, Projectile Cost:20 (energy)
4:Rocket (Two projectiles appear behind to the sides of the Starfiphter and accelerates) L.'> -
Health:10, Energy:0, Regen:10/0, Armour:2, Vision:2, Move:0, Move Cost:3, ,'; —~ ra
Projectile Damage:100, Projectile Cost:10 (health) =
5:Splitter (A single mine projectile is placed in front of the Starfighter) \J C(,/w_]
Health:@0, Energy:100, Regen:0/10, Armour:@, Vision:@, Move:@, Move\ Cost:5, —
Projectile Damage:150, Projectile Cost:70 (energy) —
[2, [oo]
it i be a Grum‘m

Weapon Selected:Standard -[ (g
—>toggle_debug_mode woﬂ’e“' / <
GZ,ION A/a/f

—_—
C————

state:weapon setup, debug, ok
In debug mode.

If /an enemy is spawned,

)—\






Acceptance Test at011 _9@—7@—90%—7? o?, 8

e . o
ate:1n game(0.0 —

, debug, ok

’e,Starflghter

[0,S]->health Vv energy:70 Regen:1/3, Armour:1, Vision:13, Move:10, Move Cost:3, location:[C,1]
Projectile PattermyStandard, Projectile Damage:70, Projectile Cost:5 (energy)
Power:Recall (50 ehergy): Teleport back to spawn.
score:0

Enemy: pﬂ

Projectile: / A f’é

Friendly Projectile Action: HA

Enemy Projectile Action: }Wﬁ%;rn

Starfighter Action:
Enemy Action:
Natural Enemy Spawn:

moow>
wn

Reference: See values of attributes in messages.txt




state:weapon setup, normal, ok

1:Standarg=(A single-projectile is fired in front)
Healt \@ Energy Regen Armour:@, Vision:1, Move:1l, Move Cost:1,
Project@¥e Damage:#J, Projectile Cost:5 (energy)

2:Spread (Three projectiles are fired in front, two going diagonal)
Health:0, Energy:60, Regen:0/2, Armour:1, Vision:®, Move:0, Move Cost:2,
Projectile Damage:50, Projectile Cost:10 (energy)

3:Snipe (Fast and high damage projectile, but only travels via teleporting)
Health:0, Energy:100, Regen:@/5, Armour:@, Vision:1@, Move:3, Move Cost:@,
Projectile Damage:1000, Projectile Cost:20 (energy)

4:Rocket (Two projectiles appear behind to the sides of the Starfighter and accelerates)
Health:10, Energy:0, Regen:10/0, Armour:2, Vision:2, Move:@, Move Cost:3,
Projectile Damage:100, Projectile Cost:10 (health)

5:Splitter (A single mine projectile is placed in front of the Starfighter)
Health:0, Energy:100, Regen:0/10, Armour:@, Vision:@, Move:@, Move Cost:5,

Projectile Damage:150, Projectile Cost:70 (energy) State:armour setup, normac, Ok
eapon Selected:Standard 1:None —

2:Light
3:Medium

4:Heavy

Health Energ{:0,/Regen:1/0, Armour:@, Vision:@, Move:l, Move Cost:@
Health:75, Energy:@, Regen:2/0, Armour:3, Vision:@, Move:@, Move Cost:1
Health:100, Energy:0, Regen:3/0, Armour:5, Vision:@, Move:@, Move Cost:3

Health:200, Energy 0, Regen:4/0, Armour:10, Vision:@, Move:-1, Move Cost:5

[STaTerENgine setup, normat, OK l
1: Standar-
Health{i; Energy Regen:0/2, Armour:l, Vision:l2, Move:8, Move Cost:2

2:Light

Health:0, Energy:30, Regen:0/1, Armour:@, Vision:15, Move:10, Move Cost:1
3:Armoured

Health:50, Energy:100, Regen:0/3, Armour:3, Vision:6, Move:4, Move Cost:5
Engine Selected:Standard

state:power setup, normal, ok
1:Recall (50 energy): Teleport back to spawn.

2:Repair (50 energy): Gain 50 health, can go over max health. Health regen will not be in effect if over cap.
3:0vercharge (up to 50 health): Gain 2xhealth spent energy, can go over max energy. Energy regen will not be in effect if over cap.

4:Deploy Drones (100 energy): Clear all projectiles.
5:0rbital Strike (100 energy): Deal 100 damage to all enemies, affected by armour.
Power Selected:Recall (50 energy): Teleport back to spawn.
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ptance Test atO 11—

state:in game(0.0), debug, ok
Starfighter:
[O,S]—>hea1th.70, energ

Projectile Pattern:Standa
Power:Recall (50 energy):
score: 0

Enemy:

Projectile:

Friendly Projectile Action:

Enemy Projectile Action:

Starfighter Action:

Enemy Action:

eleport back to spawn.

we effect -

70, Regen:l, Armour:1, Vision:13, Move:10, Move Cost:3, location:[C,1]§
Projectile Damage:70, Projectile Cost:5 (enerdy

—

Enemy Spawn

Phase 7 of 1st Turn
1st num: [1,45 >
2nd num: [1, 100] >

RUAY!
/oc¢ 1

Natural Enemy Spawn: __é7 - See 2.17 of instructions.
2 3 45 6 7 8 91011 12 13 14 15 16 17 -— —_—
Y- - CIIICCIIIIIIi: > -ls’fuseofRN&(l:l)ge"-GM{
oI IITIIIZIIIICC ’quneﬂfﬁholagg
R, — 2. oty f RN
Ztv e?ii)game(l.o), debug, ok [4
Starfighter:

To-2 %Dl

Ve@l’/l MWM
by @

A
of ﬁa/ﬁﬂl

[@0,S]1->health:70/70, energy, Regen:1/3, Armour:1l, Vision:13, Move:10, Move Cost:3, location:[A,1]
Projectile Pattern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.
score: @
Enemy:
ctfh—>hea1th:100/100, Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,17]
Projectile:
Friendly Projectile Action:
Enemy Projectile Action:
Starfighter Action:
The Starfighter(id:@) moves:
Enemy Action:
Natural Enemy Spawn:

[C,1]1 — [A,1]

A Grunt(id:1) spawns at location [A,17]. ra ,rl]
1 2 3 4 5 6 7 8 910 11 12 13 14 15 16 3
sAS _ _ _ _ _ _ - _ - _ - - - - _
e T ICIICZICIICE
C_ _ _ _ _ _ _ _ _ _ _ - - - - - _
0 _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _

—E _ - -




Acceptance Test atOl11

state:in game(1.0), debug, ok
Starfighter:
[0,S]->health

0770, energy:64/70, Regen:1/. Armour:1, Vision:13, M :10, Move Cost:3, location:[A,1]

hteg F;)iocation: [A,17]

Projectile Pattern: Standar? Projectile ge:70, Projectile Cos (energy)
Power:Recall (50 energy): Teleport back to spawn. —
score:@

Enemy:

[1,G]->health: 100/100 Regen 1, Armour:1, Vision: 5, seen_by_Starfighter:F, can_see_Starfig

Projectile: b R

Friendly Projectile Action:
[C,1] —> [A,1]

Enemy Projectile Action:
Starfighter Action:

The Starfighter(id:@) moves:
Enemy Action:
Natural Enemy Spawn:

Part 4 of 8

—

Energy regen done before fire
- fire according to weapon
- Grunt not preempted by fire
Regen then act

[0,S]->health{7@/70, energyi62/70, Regen:1/3, Armour:1,

' Power:Recall (50 energy): Teleport back to spawn.
LLL + % = L score:@
— Enemy:
— [1,G]->health{ 10
Projectile:
[-1,*]->damage:70, move:5, location: [A,2]
— [-2,<]->damage: 15, move:4, location:[A,14]

Friendly Projectile Action:
Enemy Projectile Action:
Starfighter Action:
The Starfighter(id:@) fires at location [A,1].

vy Action:
A Grupt(id:1) moves: [A,17]
A enemy projectile(id:-2)

—> [A,15]
spawns at location [A,14].

Natural Enemy Spawn:
1.2 3 45 6 7 8 9101112 13 15 16 17
S x _ _ _ _ _ _ _ _ _ _\<) 6 _
L

moOow>

A Grunt(id:1) spawns at location [A,17].
(52 3 4 5 6 7 8 9101112 13 14 1
Sy_ _ _ _ _ _ _ _ - _ _ - _ _
cC_ _ _ o o o o oo
D_ _ _ _ _ - - - - - - - - - - - —|f->fire
E_ _ _ - - - - - - - - - Srate a2, 0T, genug, on U
Starfighter:

Projectile Pattern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)

100, Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:I[A,

A friendly projectile(id:-1) spawns at location I[A,2].

Vision:13, Move:10, Move Cost:3, location:[A,1]

DL




Acceptance Test atOl11

Part 5 of 8

state:in game(2.0), debug, ok
Starfighter:

[0,S]->health:70/70, energy:62/70, Regen: 1/3 Armour:1, VlSlO@ Move:10, Move Cost:3, location:[A,1]
age:70, Projectile Cost:5 (energy)

Projectile Pattern:Standard, PrOJectlle
Power:Recall (50 energy): Teleport back to spawn.
score:0 J

Enemy:

Projectile:
[-1,%]->damage:70, move:5." location: [A,2]
[-2,<]->damage: 15, mov::4,/location: [A,14]
Friendly Projectile Action:
Enemy Projectile Action:
Starfighter Action:
The Starfighter(id:@) fires at location [A,1].

A friendly projectile(id:-1) spawns at location [A,2].

Enemy Action:
A Grunt(id:1) moves: [A,17] — [A,15]

e
1o ns
1%0

o o id

“@

S_

moo

3
[1,G]->healt 100, Regefj: 1 Armour.l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,15]

- Enerqgy regen done before move
- move 1 spg

JGrunf not preempted by move
Regen “then act

LN

A enemy projectile(id:—Z) spawns at ion [A,14].
Natural Enr-\'y apu\n
3 'o s 8 1311126?:1" 6 17

bl +3 =@
¥-Gx0 &)

- update enemy vision

ate:1n game(3.0), debug, ok
Starfighter:
[0,S]->health:70/70, energy{62/70, Regen:1/3, Armour:1l, Vision:13, Move:10, Move Cost:3, location:[A,2]
Projectile Pattern:Standard, Projectile Damage:7@, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.

score: 0
Enemy: .
[1,G]—>healt @ 100, Regen:1, Armour:1l, Vision:5, seen_by_Starfight an_see_Starfighter:F, location:[A,13
Pri tile: s e
[-1 *]—>damage-70 move 5 1ocation: [A, 7]

1
v
a
@
3
]

Q
]
i
o
3
o
<
o
.:;
—
o
(2]
]
=t
=
o
3
>
=
S

-3 <]—>damage 15, move: 4 1ocat10n rA_IZ]N_
Friendly Projectile Action:

A friendly projectile(id:-1) moves: [A,2] —> [A,7]
Enemy Projectile Action:

A enemy projectile(id:-2) moves: [A,14] —> [A,10]
Starfighter Action:
The Starfighter(id:@) moves:

= Lspawns at location [A,12] ]’.‘E’.

1 2 3 4 5 6 7 8 910 11@13 14 15 16 17
_ S _ _ _ _ *x _ _ < G _ _ _ _
-

é‘w

Jv(

Sl Lal




Acceptance Test atO11 Part 6 of 8

state:in game(3.0), debug, ok
Starfighter:

Power:Recall (50 en
score: 0
Enemy:

Projectile:

Friendly Projectiteé Action:
A friendly projectile(id:-1)
Enemy Projectile Action:

Starfighter Action:
The Starfighter(id:@) moves:
Enemy Action:
A Grunt(id:1) moves: [A,15]
A enemy projectile(id:-2)
Natural Enemy Spawn:
3 6

moow>

[0,S]->health:70/70, energy:62/70, Regen:1/3, Ar
Projectile Pattern:Standa®™, Proj

[l,G]—>healtl@100, Regen& Armour@vision:s, seen_by_Starfighter:T, can_see_Starfighter:F, location:[A,13]

[—1,*]—>damag<0) move:5. location: [A,7]
[-2,<]->damage; 15, move:4, location:[A,10]

[-3,<]->damage 15, move:4, location:[A,12]

moves: [A,2] —> [A,7]

A enemy projectile(id:-2) moves: [A,14] —> [A,10]

[A,1]1 —> [A,2]

- [A,13]

;pa?.at\location [A,12].
1€ ‘12@151617

-0 - - -
= = _,_ U,

21, Vision:13, Move:10, Move Cost:3, location:[A,2]

Projectile Cost:5 (eneray) - Energy regen done before move

- move 1 space

7Y - update enemy vision

= Grunt not preempted by move
- Regen then act

- update enemy vision

6¢

-

—+

3-¥
{

3% D (&)

&

<>movaAl3)
S e:ln game(4.0), debug, ok

Starfighter:
[0,S]—>health:70/70, energ@m, Regen:1/3, Armour:1l, Vision:13, Move:10, Move Cost:3, location:[A,3]
Projectile Pattern:Standard, Projectile Damage:7@, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.
score: 0
Enemy:
[1,G]->health 100, Regen:1, Armou@Vision:S, seen_by_Starfighter:T, can_see_Starfighter:F, location:[A,11]
Projectile:
[-4,<]->damage: 15, move:4, location: [A,10]
Friendly Projectile Action:
A friendly projectile(id:-1) moves: [A,7] —> [A,12]
The projectile collides with enemy projectile(id:-2) at location [A,1@], negating damage.
h

-

The projectile collides with enemy projectile(id:-3) at location |[A,12]},| negating damage.
Enemy Projectile Action:
Starfighter Action: /
The Starfighter(id:@) moves: [A,2] —> [A,3]
Enemy Action:

’
I
4 Grunt(id=1) moves: [A,13] — [A,11] ﬁ\
The@couides with friendly grgiestite(id:—l) at location, takin m
M Lene rojectile(id:-4) spawns at location [A,10]. —

Natural Enemy Spawn:
1 2 3 45 6 7 8 910 11 12 13 14 15 16 17

> S prmody

moow>




Acceptance Test atO11

Part 7 of 8

state:in game(4.0),
Starfighter: °

debug, ok

L4 o o

[0,S]->health:70/70, energy:62/70, Regen:1/3, Armour:1l, Vision:13, Move:10, Move Cost:3, location:[A,3]

Projectile Pattern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.
score:0
Enemy:
[1,G]->health:61/100, Regen:l, Armour:1l, Vision:5, seen_by_Starfighter:T, can_see_Starfighte
Proiectile:
[-4 <]->damage:15, move:4, location:[A,10]
Friendly Projectile Action:
A friendly projectile(id:-1) moves: [A,7] —> [A,12]
The projectile collides with enemy projectile(id:-2) at location [A,10], negating damage.
The projectile collides with enemy projectile(id:-3) at location [A,12], negating damage.
Enemy Projectile Action:
Starfighter Action:
The Starfighter(id:@) moves:
Enemy Action:
A Grunt(id:1) moves: [A,13] —> [A,11]
The Grunt collides with friendly projectile(id:-1) at location [A,12],
A enemy projectile(id:-4) spawns at location [A,10].

=

[A,2] > [A,3]

taking 39 damage.

Energy regen done before move

move 2 spaces
update enemy vision

- _Grunt not preempted by move
Regen then act
- update enemy vision

r:F, location:[A,11]1f

—ﬁ)ve(A.l)

8 13 14 15 16 17

state:1in game(5.0), debug, ok
Starfighter:
[0,S]->health:70/70, energ

Natural Enemy Spawn
g\12 2
G-

B
C_
D _
E _

Power:Recall (50 energy): T

score:0
Enemy:
[1,G]->health:62/100, Regen:1,
Projectile:
[-4,<]->damage:15, move:4, lo
[-5,<]->damage: 15, move:4, lo
Friendly Projectile Action:
Enemy Projectile Action:
A enemy projectile(id:-4) mov
Starfighter Action:
The Starfighter(id:@) moves:
Enemy Action:
A Grunt(id:1) moves: [A,11] —> [A,9]
A enemy prOJectlle(ld -5)
Natural Enemy Spawn:

\

8

-©

<

@

Projectile Pattern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)

= [A

spawns at 1ocat10

70, Regen:1/3, Armour:1, Vision:13, Move:10, Move Cost:3, location:[A,1]

eleport back to spawn.

Armour:1, Vision:5, seen_by_Starfighter:T, can_see_Starfighter:F, locatlon [A,9]

cation: [A,6]
cation: [A,8]

es: [A,10] —> [A,6]

[A,3] — [A,1]
'r;,xez.
0111

41516 1
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Acceptance Test atOl

state:in game(5.0), debug, ok
Starfighter:

[0,S]—>health

Projectile Pa

Power:Recall (50 energy): Teleport back go spawn.
score:@ b’“ﬂf 4

Enemy:
[1,G] —>hea 1t

Projeckdle =
[-4J< —>damag e
[-5 <]->damage'

Enemy Projectile Action:

A enemy projectile(id:-4) moves:
Starfighter Action:

The Starfighter(id:@) moves:
Enemy Action:

A Grunt(id:1) moves:

00, Regen:1, Armour:1, Vision:5, en

move(4 ' location:[A,6]

move 4, location:[A,8]

[A,10] — [A,6]
[A,3]1 -> [A,1]

[A,11] — [A,9]

A enemy projectile(id:-5) spawns aj location [A,8].
Nat Enemy,.Spawn : . o M
3 5 im 11 12 13 14 15,16 17
z 2 viele
. .- YC - D C ctheR
D_ _ _ _ _ - - - - - -
E

]
70, energy@m, Regen:lE-,)Armour@' ion:13, :10,
tern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)

_by_Starfighter:T, can_see Starfighter:F, location: [A,9]

9 dmdq
g ot (4.9)

Vision:13, Move:10, Move Cost:3, location:[A,1]

(4,0
q;aePS‘

(&L[)

Part 8 of 8

- Energy regen done before move
- move 9 spaces

(colliding after 8 spaces)

- Starfighter destroyed

Starfighter:
[0,S]—>health
Projectile Pattern:Stand
Power:Recall (50 energy):

score:2 ’»g:l\le( mb CZ

Enemy:
Projectile:
Friendly Projectile Action:
Enemy Projectile Action:
A enemy projectile(id:-4) moves:
A enemy projectile(id:-5) moves:
Starfighter Action:
The Starfighter(id:@) moves: [A,1 —>l[A;0 I
The Starfighter collides with enemy pro
The Starfighter collides with enemy projectile(id:-5)
The Starfighter collides s with Grunt(id:1) at location
The Grunt at location [A,9] has been destroyed.
The Starfighter at location [A,9] has been destroyed.
Enemy Action:
Natural Enemy Spawn:

Teleport back to spawn.

[A,6] —> [A,2]
LA, 8] —> (A, 4]

1 2 3 4 5 6 7 8 910 11 12 13 14 15 16 17
A_ _ _ _ _ _ _ _'X _ o_ oo
B_ _ _ _ _ _ _ _ _ _ _ _ _ 9_ 9_o__
C_ _ _ _ _ _ _ o_ o_ oo
D_ _ _ _ _ _ _ _ _ _ o o_ oo
E o

Better luck next time!

The _gamg is over.

ectfle(id:—4) at location [A,2], takin

gcation
, trading 62 damage.

70, energy@ﬂ«), Regen:1/3, Armour:1l, Vision:13, Move:10, Move Cost:3, location:[A,9]
, Projectile Damage:70, Projectile Cost:5 (energy)

s drerpel by bant

La.4l,




